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2. (d)

3. Be fore 10 : 00 am dis tance cov ered by first train which is
run ning form town A   70 2 140 km
Re main ing dis tance   500 140 360 km.
Here, 360 kms is the dis tance which will be cov ered by both

trains with their Rel a tive speed in op po site di rec tion.
Their rel a tive speed in op po site  70 110

 180 kmph
ATQ
Time taken by both trains to cover 360 km. is

 
360
180

2 hrs

 i e. ., Af ter 2 hrs they will meet each othe and their meet ing
time will be

 12 00:  noon

4. Dis tance trav elled by driver in 2 hrs

  300
40

100
120 km

Dis tance to be cov ered in 2 hrs
  300 120 180 km

Re quired speed  
180

2
90 km/h

Re quired dif fer ence   90
120

2
30 km/hr.

5. A B C
2  1
  3 1

 A will take 19 min

6. (d)

7. The two cars will col lide if their speed are in the ra tio of the
dis tance to be cov ered by them
Ra tio of dis tance  40 50 4 5: :
For the cars not to col lide v v1 2 4 5: :

8. (b)

9. Ac tual : re duced
Ra tio of speed =  11  :  7
Ra tio of time =  7   :  11
Given; 11R  22 hrs
R = 2 hrs
Ac tual time i e. ., 7R = 14 hrs
So, time saved   22 14 8 hrs

10.

1 unit 25 min
6 unit 150 min
= usual time = 2 hrs 30 min

11. Given
A’s speed  9 km/hr
B’s speed  10 km/hr

Here we find  A taks 60 min more than that of B.
But ac tual more time  36 min
i e. ., 60 units  36

1 unit  
36
60

3
5

Their trav elled dis tance is same
Dis tance = Time × Speed
 9 10
 90 ra tio

Ac tual dis tance, cov ered by them   90
3
5

54 km

12.          A : B
Ra tio of speed =  4 : 5
Ra tio of time = 5 : 4
( )5 4 15 R  min
R  15 min
So, Time taken by B   4 15 1 hrs
Dis tance     S T 50 1 50 km

13. Let dis tance be 60 km
LCM 10, 20, 30, & 60

Av er age speed 
total dis ce
total time

tan

to tal time 
60

10
km
km h/

    6 3 2 1 12 hrs
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A : B : C
Ratio of
speed

Ratio of
time

1

19 min

6

114 min

2

×19×19

6 13

Actual New
speed 7 6
time   6 7

A : B
Ratio of
speed

Ratio of
time

= 9 10:

= 10 9:

1 hrs more



Av er age speed 
  


60 60 60 60

12
240
12

 20 km/hrs

14. Avg. Speed for whole Jour ney 


2 1 2

1 2

s s
s s


 


2 20 30
20 30


 2 20 30

50

Avg. speed  24 km/hr

15. Let the dis tance be tween Allahabad and Nagpur 300 km

To tal time taken   
300
100

300
150

5 hr

Av er age speed 



300 300

5
120 km/h

Al ter nate : Av er age speed




 


2 2 150 100

250
120

xy
x y

 km/hr
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